TE4 LIEMEEEIETE AFL{M#E EE MM E | < R 1% Ek(a) 0.8
TEBR EEAETES R R ik A Y EE () 0.2
AL & (Fdk) 20,400,000 M | & 4% (Fad) 21,420,000 2] =IEAFLEE (xmin) 19,800,000 s]
B+l B TR 254108258 EALE 97.06 % Efifi i afiza s (ymax) 145
. MUBHE BHD:A | | ALEERExG) | REEEAS | e | BEREAExG) | DD | g
mROxX & A& IE IE E e
(x) X=(xmin)=+(x) X 100 X (a) (y) Y=(y)+(ymax) X 100 X (b) X+Y
AL T SEEH 19,800,000 1 80.00 130 3 17.92 97.92 1
- (Bt 4E 20,400,000 8 77.60 145 1 20.00 97.60 2
- AL F0 20,200,000 3 78.40 135 2 18.62 97.02 3
- ERFESW 20,300,000 6 78.00 85 5 11.72 89.72 7
= W FAHE 20,200,000 3 78.40 85 5 11.72 90.12 6
= B= 20,350,000 7 77.76 95 4 13.10 90.86 4
= EFERERR 20,200,000 3 78.40 80 7 11.02 89.42 8
- & 7 2 2R 0 20,000,000 2 79.20 80 7 11.02 90.22 5
0
0




ITE4 HEREHESIBRISE A FLAH A% SRR B [ 2 %R 5 1% Bh(a) 0.8
T =GR xRS E B s E IR D% 5b) 0.2
AL (Fidk) 23,800,000 M | & 4% (Fad) 24,990,000 2] =IEAFLEE (xmin) 23,600,000 s]
B+l B TR 254108258 EHLE 99.16 % Efifi i afiza s (ymax) 145
, MUBHE BHD:A | g | ALEERExG) | BEEEAS | e | BEREAExG) | DD | g
mROxX & A& IE IE E e
(x) X=(xmin)—=(x) X 100 X (a) (y) Y=(y) = (ymax) X 100 X (b) X+Y
- FISEH® 23,600,000 1 80.00 130 3 17.92 97.92 3
AL @) x4E 23,600,000 1 80.00 145 1 20.00 10000 | 1
- AL F0 23,650,000 5 79.76 135 2 18.62 98.38 2
= ERFESW 23,660,000 7 79.76 85 5 11.72 91.48 6
= W FAHE 23,600,000 1 80.00 85 5 11.72 91.72 5
= B= 23,700,000 8 79.60 95 4 13.10 92.70 4
= EFERERR 23,600,000 1 80.00 80 7 11.02 91.02 7
- & i 2 2R 0 23,650,000 5 79.76 80 7 11.02 90.78 8
0
0




